BT RS EREAOBREN RRERE S5

FEREIDRFLAE Bfr: A%
ARG A T
= TP RER L RER
- YNmi: ¢ &I &3
&3 H * &3 L -
@ 78,006 77,867 229 123 45 78 106 43 63
FRERE 4,558 4,548 10 7 1 6 3 3
#HEH 4,371 4,356 21 14 6 3 7 3 4
BEH 4,045 4,031 14 2 2 12 5 7
BALE 3,178 3,161 17 3 4 4 9 3 6
KER 3,450 3,435 15 6 4 2 9 3 6
BEH 3,481 3,474 7 3 3 4 1 3
JEEE 4,013 4,008 5 3 1 2 2 0 2
KFEH 3,046 3,038 3 4 1 3 4 1 3
iyl 6,912 6,897 15 9 3 6 6 3 3
i) =1 5,609 5,606 3 1 1 2 1 1
e 4,790 4,779 1 1 1 10 7 3
L 4,007 3,997 10 9 5 4 1 0 1
PR 3,470 3,449 21 12 4 8 9 4 5
/NFEFE 3,520 3,511 7 1 6 2 2
AfpEE 2,056 2,052 4 4 2 2 0 0
RigE 4,217 4,204 13 12 5 7 1 0 1
BEH 2,693 2,683 10 4 1 3 6 2 4
YaRE 2,050 2,045 5 3 1 2 2 0 2
FIRE 4,076 4,063 13 5 1 4 8 1 7
FERE 4,548 4,530 18 9 5 4 9 4 5
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BT RS EREAOBREN RRERE S5

FEREIIFIRAE Bfr: A%
REAA T
= TP RER L RER
PNt &I &3
&3 H * &3 L -
@ 77,408 71,196 212 114 44 70 98 41 57
IR E 4,539 4,528 1 7 1 6 4 3 1
#HEH 4,348 4,329 19 12 5 7 7 3 4
REER 3,996 3,982 14 2 2 12 5 7
B 3,194 3,177 17 3 4 4 9 3 6
KEH 3,381 3,370 1 5 3 2 6 2 4
BEH 3,504 3,495 9 6 1 5 3 1 2
JEEE 4,008 4,005 3 2 1 1 1 0 1
KFEH 3,014 3,010 4 1 1 3 1 2
iyl 6,701 6,686 15 3 4 4 7 4 3
PEEE 5,597 5,594 3 1 1 2 1 1
BigE 4,730 4,720 10 2 1 1 8 6 2
L 3,941 3,930 1 10 5 5 1 0 1
FME 3,378 3,358 20 12 4 3 8 3 5
/NFEFE 3,514 3,507 5 1 4 2 2
AfpEE 2,087 2,083 4 4 2 2 0 0

RigE 4,156 4,143 13 12 5 7 1 0 1
BEH 2,671 2,662 9 4 1 3 5 2 3
YaRE 2,036 2,033 3 1 1 2 0 2
FIRE 4,118 4,106 12 4 1 3 8 1 7
PERE 4,495 4,478 17 8 5 3 9 4 5
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BT RS EREAOBREN RRERE S5

FEREIFIAE Bfr: A%
REAA T
= TP RER L RER
PNt &I &3
&3 H * &3 L -
@ 77,704 77,496 208 113 44 69 95 41 54
IR E 4,527 4,514 13 9 2 7 4 3 1
#HEH 4,341 4,324 17 14 5 9 3 1 )
EEH 3,985 3,970 15 3 3 12 5 7
B 3,256 3,239 17 7 2 5 10 3 7
KEH 3,320 3,310 10 4 3 1 6 2 4
WEH 3,594 3,587 7 4 4 3 1 )
JEEE 3,997 3,994 3 2 1 1 1 0 1
REE 2,997 2,991 6 1 1 5 3 2
PR 6,756 6,745 1 6 4 2 5 2 3
i) =1 5,656 5,653 3 1 1 2 1 1
BigE 4,642 4,629 13 5 3 2 8 7 1
L 3,909 3,897 12 11 5 6 1 0 1
FME 3,381 3,359 2 13 5 3 9 4 5
/NFEFE 3,571 3,564 7 5 1 4 2 2
AfpEE 2,111 2,107 4 4 2 2 0 0

RiRE 4,220 4212 3 7 3 4 1 0 1
BEH 2,720 2,711 9 4 1 3 5 2 3
JFRTE 2,045 2,043 2 1 1 1 0 1
FIRE 4,230 4,219 11 3 1 2 8 1 7
PERE 4,446 4,428 18 9 6 3 9 4 5
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BT RS EREAOBREN RRERE S5

FEREIOVERAE Bfr: A%
REAA T
£ 3l TP RER P
- YNmi: ¢ &I &3
&3 H * &3 L -
@ 78,556 78,335 221 118 4 % 103 4“4 59
FRERE 4,616 4,598 18 13 5 3 5 3 2
#HEH 4,378 4,363 15 9 1 8 6 2 4
EEH 3,958 3,943 15 3 3 12 5 7
BALE 3,237 3,220 17 3 3 5 9 2 7
KER 3,373 3,363 10 5 3 2 5 1 4
WEH 3,677 3,670 7 4 4 3 1 )
JEEE 4,066 4,056 10 5 2 3 5 1 4
KFEH 3,021 3,011 10 4 1 3 6 4 2
PR 6,772 6,760 12 3 4 4 4 2 2
i) =1 5,725 5,722 3 1 1 2 1 1
BIEER 4,691 4,677 14 6 ) 4 3 7 1
BExHE 3,976 3,964 12 11 6 5 1 0 1
FME 3,361 3,339 2 12 3 9 10 4 6
/NFEFE 3,645 3,639 6 5 1 4 1 1
AfpEE 2,182 2,177 5 5 3 2 0 0

RiRE 4,365 4,355 10 6 2 4 4 1 3
BEH 2,770 2,758 12 7 3 4 5 2 3
JRFRTE 2,111 2,109 ) 1 1 1 0 1
FEWRE 4,353 4,345 8 2 1 1 6 1 5
FERE 4,279 4,266 13 3 1 2 10 6 4
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BT RS EREAOBREN RRERE S5

FERRIBERARE Bfr: A%
AT
-1 TR AR L RELA
#|AOK EiR &3
&3 H * &3 g -

@ = 78,493 78,292 201 106 39 67 95 37 58

IR R 4,524 4,506 18 14 6 3 4 3 1
#HEH 4,267 4,254 13 8 2 6 5 2 3
EER 3,935 3,920 15 2 2 13 5 8
BHLLE 3,258 3,248 10 6 3 3 4 0 4
KEH 3,221 3,213 8 3 1 2 5 1 4
RN 3,829 3,820 9 6 1 5 3 1 2
e 4,128 4,115 13 8 2 6 5 1 4
REH 3,048 3,040 8 3 1 2 5 4 1
iyl 6,706 6,694 12 7 3 4 5 2 3
PEEE 5,747 5,744 3 1 1 2 1 1
A CL| 4,461 4,454 7 ) 1 1 5 4 1
BHxE 3,965 3,955 10 8 3 5 2 0 2
=clil=s 3,355 3,334 21 13 6 7 8 2 6
/NEFER 3,678 3,674 4 1 3 0 0
AfpEE 2,267 2,263 4 9 9 0 0

RIEE 4417 4,408 9 4 9 9 5 1 4
BEH 2,776 2,765 1 7 3 4 4 2 2
iogzneY 2,173 2,169 4 1 1 3 1 2
FIRE 4442 4,432 10 3 1 2 7 1 6
PERIE 4,296 4,284 12 2 1 1 10 6 4
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BT RS EREAOBREN RRERE S5

FERREIVERAE Bfr: A%
ARG A T
= TP RER L RER
- YNmi: ¢ &I &3
&3 H * &3 L -

@ st 78,167 77979 188 112 43 89 76 28 48

IR E 4,634 4,613 21 17 7 10 4 2 2
#HEH 4,182 4,172 10 6 1 5 4 3 1
REER 3,700 3,686 14 3 3 11 4 7
BALE 3,254 3,245 9 6 3 3 3 0 3
KER 3,095 3,087 8 5 2 3 3 0 3
BEH 3,844 3,836 8 6 1 5 2 0 2
P 4,168 4,154 14 3 2 6 6 2 4
KFEH 3,002 2,996 6 3 1 9 3 1 2
iyl 6,516 6,504 12 7 3 4 5 2 3
i) =1 5,722 5,720 2 1 1 1 0 1
b5 CLE 4,304 4,296 8 3 1 ) 5 4 1
L 3,979 3,973 6 4 ) ) 2 0 )
FME 3,318 3,301 17 14 7 7 3 1 )
/NFEFE 3,756 3,750 6 5 2 3 1 1
AfpEE 2,316 2,312 4 9 9 0 0

SRE 4,483 4,474 9 6 4 2 3 1 2
BEH 2,835 2,824 1 3 3 5 3 1 2
JRFRTE 2,226 2,224 2 1 1 1 0 1
FIRE 4,547 4,537 10 3 1 2 7 1 6
PERIE 4,286 4,275 11 2 1 1 9 5 4
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BT RS EREAOBREN RRERE S5

FEREICERARE Bfr: A%
ARG A T
= TP RER L RER
PNt EiR &3
&3 H * &3 L -

@ st 71,770 77,590 180 107 42 85 73 30 43
NER 1,745 1,736 9 4 2 5 4 1
SREE 1,321 1,316 5 2 N 2 3 0 3
NEE 841 840 1 - . 0 1 1 B
R(iEE: 3,001 2,999 2 2 1 0 0 _
IR E 1,560 1,549 1 9 4 2 1 1
AR 2,042 2,038 4 3 2 1 1 _
#HEH 2,033 2,026 7 2 _ 2 5 3 )
i3 1,149 1,146 3 2 1 1 0 1
EER 3,683 3,669 14 3 _ 3 11 4 7
KEE 1,570 1,557 13 11 7 2 1 1
BALLE 2,358 2,352 6 5 2 1 0 1
EEE 1,546 1,543 3 ; ) 0 3 1 2
BEE 1,323 1,322 1 1 0 0 0 ;
HHEH 1,471 1,469 2 . N 0 2 1 1
KEER 1,422 1,421 1 1 _ 1 0 0 _
KEH 1,532 1,529 3 3 1 0 0 -
RER 1,517 1,507 10 10 6 0 0 .
=RE 1,514 1,511 3 1 ; 1 ) 1 1
HEH 2,101 2,100 1 . N 0 1 0 1
L 1,094 1,094 ) . ) 0 0 0 )
FKAE 1,257 1,253 4 4 2 0 0 .
B¥H 3,843 3,833 10 4 ) 6 3 3
BHRE 2,444 2,438 6 3 1 3 1 )
EE 1,462 1,461 1 R B 0 1 0 1
FEEH 4,220 4,209 1 9 7 2 0 2
SERE 1,342 1,340 9 ) ) 2 0 0 )
R 1,207 1,205 2 1 N 1 1 0 1
L 1,678 1,674 4 3 _ 3 1 0 1
R4EH 1,977 1972 5 1 0 4 1 3
PIEH 1,199 1,194 5 3 1 2 1 1
ARE 3,265 3,255 10 3 2 7 4 3
RTE 981 981 . - . 0 0 0 .
FEE 6,312 6,299 13 9 3 4 2 2
FEEE 5,746 5,745 1 . _ 0 1 0 1
=&H 2,004 2,002 2 2 - 2 0 0 -
R 1,670 1,667 3 3 ; 3 0 0 ;
REZH 1,140 1,139 1 1 ) 1 0 0 )
EEE 1,200 1,199 1 - . 0 1 0
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BT RS EREAOBREN RRERE S5

FERREIGERARE Bfr: A%
AT
= TP RER L RER
- YNmi: ¢ EiR &3
&3 H * &3 L -
@ st 76,967 76,806 161 92 35 57 69 29 40
NER 1,700 1,693 7 2 1 5 4 1
SREE 1,303 1,298 5 2 N 2 3 0 3
NEE 812 812 . - . 0 0 0 B
Qi 3,003 3,002 1 1 0 0 0 N
IR E 1,543 1,533 10 3 5 2 1 1
AR 1,945 1,943 2 1 0 1 1 _
#HEH 1,968 1,959 9 3 _ 3 6 3 3
mEE 1,094 1,094 . - . 0 0 0 .
EER 3,577 3,563 14 4 3 10 4 6
KEHE 1,491 1,479 12 10 7 2 1 1
BALLE 2,296 2,289 7 5 2 2 0 2
EEE 1,441 1,438 3 ; ) 0 3 1 2
BEER 1,305 1,304 1 1 0 0 0 .
BER 1,422 1,418 4 _ _ 0 4 2 )
KiBE 1,361 1,360 1 1 ) 1 0 0 )
KEH 1,485 1,482 3 2 0 1 1 -
REH 1,492 1,487 5 5 3 0 0 ;
=RE 1,446 1,444 9 1 R 1 1 1 R
BEH 2,036 2,034 2 1 _ 1 1 0 1
EpE 1,120 1,120 ; . ; 0 0 0 ;
FKAIER 1,246 1,243 3 3 2 0 0 .
B¥H 3,891 3,881 10 4 2 6 3 3
Bz 2,483 2,480 3 3 1 0 0 .
EE 1,489 1,488 1 R B 0 1 0 1
FEEH 4,246 4,235 1 9 7 2 0 2
TLRE 1,347 1,346 1 1 . 1 0 0 .
R 1,206 1,203 3 2 N 2 1 0 1
L 1,702 1,699 3 3 . 3 0 0 .
R4H 2,016 2,011 5 1 0 4 1 3
FEE 1,248 1,41 7 3 1 4 3 1
KEE 3,292 3,288 4 1 N 1 3 1 2
RIE 1,002 1,002 ; . ; 0 0 0 ;
gLt 6,202 6,188 14 10 3 4 2 2
FEEE 5,731 5,730 1 ; ) 0 1 0 1
= 2,018 2,016 2 2 ; 2 0 0 ;
RigE 1,646 1,644 2 2 . 2 0 0 .
REZH 1,159 1,158 1 1 ) 1 0 0 )
EvEE 1,203 1,201 2 ; ) 0 2 0 2
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BT RS EREAOBREN RRERE S5

FERFIMFEIAE Br: A%
RER AT 8%
o R TP RER L RER
- YNmi: ¢ =4 &3
&3 H * &3 L *
@ = 71,498 717,340 158 90 33 57 68 29 39
AIEH 1,675 1,669 6 1 _ 1 5 4 1
SREE 1,355 1,352 3 1 N 1 2 0 2
NEE 799 799 . - . 0 0 0 B
fliER 2,971 2,970 1 1 0 0 0 B
FRERE 1,556 1,547 9 7 4 2 1 1
HILH 1,967 1,966 1 1 0 0 0 _
#HEH 1,955 1,948 7 3 _ 3 4 2 )
wmEE 1,130 1,130 . - . 0 0 0 .
EEER 3,540 3,528 12 4 3 3 4 4
REE 1,486 1,474 12 10 7 2 1 1
BALLE 2,320 2,314 6 5 2 1 0 1
gLt 1,443 1,443 . - . 0 0 0 .
BEE 1,338 1,337 1 1 0 0 0 )
EER 1,419 1,414 5 . ) 0 5 2 3
KmE 1,396 1,393 3 1 ) 1 2 1 1
KER 1,492 1,489 3 2 0 1 1 .
RER 1,524 1,519 5 5 3 0 0 .
=RE 1,498 1,493 5 1 ; 1 4 3 1
HEH 2,058 2,056 2 1 N 1 1 0 1
e 1,170 1,170 ; . ; 0 0 0 ;
ZKMIE 1,283 1,280 3 3 2 0 0 -
BEH 3,914 3,906 8 4 2 4 2 2
BHRE 2,501 2,499 2 1 _ 1 1 0 1
YEH 1,493 1,492 1 R . 0 1 0 1
JeEH 4,254 4243 1 10 7 1 0 1
TRE 1,360 1,359 1 1 . 1 0 0 .
R 1,230 1,227 3 2 ) 2 1 0 1
ZRE 1,692 1,688 4 4 3 0 0 .
R4H 2,033 2,027 6 2 1 4 1 3
PIEH 1,232 1,227 5 1 . 1 4 3 1
AR 3,363 3,355 8 1 . 1 7 2 5
REE 1,079 1,079 ; . ; 0 0 0 ;
gLt 6,162 6,146 16 12 4 4 2 2
[ich - &2 5,723 5,721 2 1 . 1 1 0 1
=&E 2,064 2,062 2 1 . 1 1 0 1
RigsH 1,627 1,625 2 2 - 2 0 0 -
RZE 1,188 1,187 1 1 . 1 0 0 .
AR 1,208 1,206 2 - . 0 2 0 2
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BT RS EREAOBREN RRERE S5

FERRIGERAE Bfr: A%
ARG A T
= TP RER L RER
- YNmi: ¢ EiR &3
&3 H * &3 L -
@ st 77,910 71,755 155 90 31 59 65 28 37
NER 1,674 1,670 4 1 _ 1 3 ) 1
SREE 1,341 1,339 2 1 _ 1 1 0 1
NEE 821 821 . - . 0 0 0 B
R(iEE: 3,014 3,012 2 2 1 0 0 _
IR E 1,591 1,582 9 7 4 2 1 1
HILH 1,962 1,961 1 1 0 0 0 _
#HEH 1,954 1,947 7 3 _ 3 4 ) )
wER 1,148 1,148 ) ; ) 0 0 0 )
EER 3,533 3,521 12 4 3 3 4 4
KEE 1,525 1,513 12 10 7 2 1 1
BALLE 2,292 2,285 7 6 3 1 0 1
gLt 1,462 1,462 . - . 0 0 0 .
BEE 1,379 1,378 1 1 0 0 0 ;
BER 1,449 1,445 4 _ _ 0 4 1 3
KEER 1,424 1,420 4 2 _ ) 2 1 1
KEH 1,497 1,494 3 2 0 1 1 R
RER 1,567 1,562 5 5 3 0 0 .
=RE 1,528 1,523 5 1 ; 1 4 3 1
HEH 2,102 2,100 2 1 N 1 1 0 1
TBE 1,195 1,194 1 R . 0 1 0 1
FKAIER 1,311 1,308 3 3 2 0 0 .
BWEHE 3,868 3,863 5 4 ) 1 0 1
BHRE 2,494 2,493 1 1 _ 1 0 0 _
EE 1,489 1,487 2 R B 0 2 1 1
YRR 4,253 4243 10 8 7 2 1 1
SERE 1,401 1,400 1 1 ) 1 0 0 )
R 1,215 1,212 3 2 N ) 1 0 1
ZEHgE 1,687 1,685 2 2 1 0 0 -
R4EH 2,041 2,035 6 2 1 4 1 3
FEE 1,274 1,268 6 1 ) 1 5 3 2
KEE 3,344 3,336 8 1 N 1 7 4 3
REE 1,099 1,099 ) ) ) 0 0 0 )
gLt 6,136 6,120 16 12 5 4 2 2
FEEE 5,674 5,672 2 1 ) 1 1 0 1
=&H 2,094 2,092 2 1 - 1 1 0 1
RigE 1,621 1,618 3 3 2 0 0 ;
RZE 1,205 1,204 1 1 . 1 0 0 .
EEE 1,246 1,243 3 . _ 0 3 0 3
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BT RS EREAOBREN RRERE S5

FERFIFIAE Bfr: A%
AT
=] THRER L RO R
BACE B &3
&3 H * &3 L -

@ st 78,498 71,755 155 90 31 59 65 28 37
=RE 1,554 1,670 4 1 _ 1 3 2 1
=48 2,124 1,339 2 1 _ 1 1 0 1
KeHE 1,544 821 B - B 0 0 0 N
REH 3,292 3,012 2 2 1 0 0 _
/NFEE 849 1,582 9 7 4 2 1 1
FIEH 1,305 1,961 1 1 0 0 0 N
AR 1,974 1,947 7 3 _ 3 4 ) )
TLgE 1,391 1,148 ) . ) 0 0 0 )
ANER 1,667 3,521 12 4 3 3 4 4
REHR 1,596 1,513 12 10 7 2 1 1
EH 1,478 2,285 7 6 3 1 0 1
FKALE 1,326 1,462 . - . 0 0 0 .
iR 3,073 1,378 1 1 0 0 0 .
REH 1,090 1,445 4 R B 0 4 1 3
REH 1,997 1,420 4 2 B 2 2 1 1
KR 1,666 1,494 3 2 0 1 1 .
KER 1,520 1,562 5 5 3 0 0 .
KiBE 1,526 1,523 5 1 N 1 4 3 1
JEEE 4,189 2,100 2 1 _ 1 1 0 1
ZgE 1,675 1,194 1 R . 0 1 0 1
P 6,054 1,308 3 3 2 0 0 -
FEEE 5,691 3,863 5 4 2 1 0 1
FRigE 1,649 2,493 1 1 . 1 0 0 .
HRE 2,513 1,487 9 R ; 0 2 1 1
R 1,234 4,43 10 3 7 2 1 1
EER 3,582 1,400 1 1 ) 1 0 0 )
HHEH 1,415 1,212 3 2 N ) 1 0 1
fREH 1,251 1,685 2 2 1 0 0 )
BEE 1,421 2,035 6 2 1 4 1 3
HEER 2,027 1,268 6 1 . 1 5 3 2
EEH 1,260 3,336 8 1 . 1 7 4 3
TER 1,214 1,099 ) ; ) 0 0 0 )
HEE 1,519 6,120 16 12 5 4 2 2
FALLIE 2,351 5,672 2 1 . 1 1 0 1
BEER 2,160 2,092 2 1 . 1 1 0 1
B\RE 1,136 1,618 3 3 2 0 0 .
HEE 1,368 1,204 1 1 ) 1 0 0 )
#HE¥H 3,817 1,243 3 . _ 0 3 0 3
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BT RS EREAOBREN RRERE S5

FERFIFIAE Br: A%
AT
H R THRER L RO R
BACE i &3
&3 H * &3 L *

@ = 78,666 78,512 154 90 28 62 64 26 38
=RE 1,553 1,547 6 1 - 1 5 4 1
=48 2,162 2,161 1 1 _ 1 0 0 _
KeHE 1,537 1,526 1 9 6 2 1 1
KiFE 3,301 3,295 6 1 - 1 5 3 2
/NFEER 854 854 B B 0 0 0 N
FIEH 1,320 1,315 5 1 N 1 4 2 2
AR 1,936 1,934 2 2 1 0 0 _
TLRE 1,427 1,426 1 1 . 1 0 0 .
ANER 1,720 1,716 4 1 . 1 3 2 1
RER 1,624 1,619 5 5 3 0 0 .
JER 1,494 1,492 2 1 . 1 1 0 1
ZKAIER 1,358 1,355 3 3 2 0 0 -
iR 3,076 3,072 4 1 0 3 1 2
RIE 1,122 1,122 ; ; 0 0 0 ;
R4:H 2,028 2,023 5 2 1 3 1 2
R 1,723 1,721 2 5 ) 2 0 0 )
KER 1,526 1,522 4 3 1 1 1 _
KiBE 1,518 1,516 2 1 N 1 1 0 1
HEEH 4,109 4,097 12 6 5 6 1 5
ZRE 1,670 1,666 4 4 3 0 0 -
P 5971 5,953 18 13 8 5 ) 3
FEEE 5,578 5,575 3 1 . 1 2 0 )
FRERE 1,649 1,640 9 7 5 2 1 1
Bz 2,512 2,509 3 3 . 3 0 0 .
R 1,234 1,233 1 _ 0 1 0 1
EEH 3,509 3,498 1 3 . 3 3 4 4
EEE 1,380 1,375 5 1 0 4 2 2
fREH 1,271 1,270 1 1 ) 1 0 0 )
BEER 1,454 1,454 . . 0 0 0 .
HER 2,018 2,013 5 5 3 0 0 ;
b\ 1,295 1,294 1 ) 0 1 0 1
LHER 1,270 1,268 2 1 0 1 0 1
HEEE 1,510 1,508 2 . 0 2 1 1
FALLIE 2,367 2,360 7 6 3 1 0 1
BEER 2,185 2,184 1 . 0 1 0 1
BEE 1,180 1,180 N N 0 0 0 N
RAE 1,367 1,365 2 1 . 1 1 0 1
HEE 3,858 3,854 4 3 2 1 0 1
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BT RS EREAOBREN RRERE S5

FERREINERAE Bfr: A%
RER AT 8%
=] THRER L RO
BACE B &3
&3 H * &3 L -

@ = 78,741 78,608 133 80 23 57 53 22 31
=RE 1,559 1,552 7 2 _ 2 5 4 1
=& 2212 2,212 ; . ; 0 0 0 )
REE 1,525 1,515 10 3 5 2 1 1
REH 3,305 3,301 4 1 _ 1 3 2 1
NEE 905 905 . - . 0 0 0 B
FIEER 1,328 1,324 4 _ _ 0 4 2 2
AHILH 1,970 1,964 6 3 2 3 0 3
JLZE 1,432 1,431 1 1 ) 1 0 0 )
ANER 1,694 1,692 2 R . 0 2 1 1
RER 1,636 1,631 5 5 3 0 0 .
EH 1,548 1,547 1 R _ 0 1 0 1
FKALE 1,377 1,374 3 3 2 0 0 .
(IS 3,065 3,060 5 1 0 4 2 2
REE 1,121 1,121 ; . ; 0 0 0 ;
REH 2,045 2,044 1 1 ; 1 0 0 ;
R 1,732 1,730 2 2 ) 2 0 0 )
KEH 1,538 1,534 4 3 1 1 1 )
KiBE 1,515 1,514 1 1 ) 1 0 0 )
JEEE 4,059 4,049 10 6 5 4 1 3
ZRE 1,649 1,645 4 4 3 0 0 .
PR 5,955 5,937 18 13 9 5 ) 3
Fich =2 5,426 5,424 2 _ R 0 2 0 )
FRERE 1,649 1,642 7 5 3 2 1 1
RE 2,520 2,517 3 3 ) 3 0 0 )
R 1,255 1,254 1 1 _ 1 0 0 _
EER 3,425 3,420 5 1 N 1 4 ) )
HEH 1,403 1,399 4 - R 0 4 2 2
RER 1,287 1,286 1 1 _ 1 0 0 _
BEE 1,482 1,482 ; . ; 0 0 0 ;
EHEH 1,996 1,991 5 5 3 0 0 .
EEH 1,310 1,309 1 . _ 0 1 0 1
TEH 1,280 1,279 1 . N 0 1 0 1
HEE 1,505 1,504 1 - . 0 1 1 .
BALLE 2,403 2,397 6 5 3 1 0 1
BEER 2,166 2,164 2 1 . 1 1 0 1
w\/EzE 1,236 1,236 ) ; ) 0 0 0 )
REEH 1,398 1,396 2 1 ) 1 1 0 1
HEE 3,830 658 2 2 1 0 4 2
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BT RS EREAOBREN RRERE S5

FEREVERAR Bfr: A%
REAA T
=] THRER L RO
Nt EiR &3
e 7 -+ &3 H -

& &t 79,271 79,139 132 82 27 55 50 19 31
=ZRE 1,586 1,580 6 1 . 1 5 4 1
=8E 2,300 2,298 2 . 0 2 1 1
AEE 1,565 1,554 11 9 6 2 1 1
KRB 3,275 3,272 3 3 2 0 0 .
R 905 905 - - 0 0 0 .
fIEE 1,367 1,362 5 1 . 1 4 2 2
Eik et 1,978 1,972 6 3 2 3 0 3
JTEH 1,426 1,425 1 1 . 1 0 0 .
AEH 1,717 1,710 7 5 1 2 1 1
RiEH 1,674 1,672 2 2 1 0 0 )
pra- L 1,547 1,546 1 R 0 1 0 1
KA 1,432 1,429 3 3 2 0 0 .
fliEEE 3,062 3,059 3 1 0 2 1 1
REH 1,124 1,124 . . 0 0 0 .
REH 2,049 2,045 4 1 . 1 3 1 2
RigH 1,775 1,773 2 2 . 2 0 0 .
KEH 1,581 1,577 4 3 1 1 1 -
KIBHE 1,544 1,543 1 1 ) 1 0 0 )
JEEEE 4,010 4,001 9 5 4 4 1 3
wigH 1,599 1,595 4 4 3 0 0 .
FEE 5,822 5,803 19 14 10 5 2 3
i)=& 5,404 5,402 2 . 0 2 0 2
i 1,685 1,680 5 4 2 1 0 1
R 2,491 2,489 2 2 . 2 0 0 .
i 1,289 1,288 1 1 . 1 0 0 .
HEH 3,424 3,419 5 1 R 1 4 2 2
BHEH 1,455 1,451 4 R 0 4 2 2
RzH 1,312 1,311 1 1 . 1 0 0 .
BEE 1,552 1,552 ] ) 0 0 0 )
BHEER 1,961 1,956 5 5 3 0 0 .
paifric: 1,339 1,338 1 . 0 1 0 1
ERHE 1,332 1,331 1 . 0 1 0 1
Py 1,538 1,538 ] ) 0 0 0 )
BALLE 2,457 2,451 6 5 3 1 0 1
BEE 2,198 2,196 2 1 . 1 1 0 1
mrE 1,295 1,295 ] ) 0 0 0 )
SREE 1,410 1,409 1 ) 0 1 0 1
BEH 3,791 3,788 3 3 2 0 0 .
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